TIẾNG ANH 10 FRIENDS GLOBAL

Unit 6 Short Test 2B
Grammar
Match 1–5 with a–e, then complete the sentences with the correct past perfect form of the verbs in brackets.
The security guard stopped the woman because		a	Ben __________________ (say) something rude to her.
Josh was pleased because 					b	he __________________ (not eat) all day.
Fiona was angry because					c	she __________________ (win) a new car.
Dan was hungry because 					d	he __________________ (find) some bargains in town.
Bella was delighted because				e	she __________________ (not pay) for her shopping.
Mark: ___ / 5
Complete the sentences with the verbs in brackets. Use one verb in the past simple and one in the past perfect.
1. After everyone _________________ (stop) talking, Gemma and Simon _________________ (cut) the wedding cake.
When we _________________ (get) to the shop, all the bargains _________________ (go).
After all the players _________________ (arrive), the football game _________________ (start).
When I _________________ (see) David, he _________________ (not receive) your invitation.
Mandy _________________ (remember) her keys after she _________________ (close) the door behind her.
Mark: ___ / 5
Vocabulary
Choose the correct words to complete the sentences.
1. Sue pretended to be / being asleep because she didn’t want to get up.
My older sister always avoids to do / doing jobs around the house.
The child refused to finish / finishing his dinner.
Do you fancy to come / coming for a walk with me?
I didn’t agree to lend / lending Frank any more money because he owes me £30!
Mark: ___ / 5
Complete the sentences with the words below.
CEO     entrepreneur     funding     profits     salary
1. Robin had a great idea for a business, but he needed to get some __________________ from a bank first.
My uncle is the __________________ of a big international company.
The teenage __________________ said, ‘I’m going to start a business and not go to university.’
Sally's new job is OK, but she’d like to have a higher __________________ .
Our company is cutting costs so it can increase its __________________ this year.
Mark: ___ / 5
Total: ___ / 20
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